define an half-sine pulse

Pulse duration s 100 Phase 0:=0

Max. shock accel
Amax = 20

giving Pulse frequency (rad/s) Wy = TL-ZWT =571.199
S

wf
in Hz fp=—
210
Total analysis time is tend := 10-T tend = 0.11
Number of time step nsteps := 5000
Analysis time step At = fend
nsteps
Tmerange t:= 0,At..tend

T
ap(t) = Amax~sin(wf~t + 6)-(t < ?Sj
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as a check set up the following integral

i:=0,1..2000 fni =1 ¢:=00 w, = 2~'lr-fni
@, r. —L,@, (-1) - : =2
SRS, = I i, (r)e " sme 1 -4 (F—-r)dr
||1 _ #2440 .
= max

SRS(f) i= |w « 2-m-f
rtend
max |——. ] ap(T)e C'W'(‘e“d‘ﬂ-sin[w 1 - )-(tend - T)] dr
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